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) 40 P9 2% #¢ 48 58 55 & . The number of foreign students applying to U.S. universities decreased
sharply after September 11 due to changes in the visa process.
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an g R 5 Q46 ~Q48:

46. American universities prepare their undergraduates for global careers by giving them chances

for international study or internship.

47. Since the mid-1970s. the enrollment of overseas students has increased at an annual rate of 3.9
percent.

48. The enrollment of international students will have a positive impact on America rather than
threaten its competitiveness.

R 0 9% 4% 5 6 0 1 8] 2F — & A8 : university, enrollment, students ZiAE X, XEXTFEEHK
R B B R I TR R T 2 < £ % 4k R ot CEE AR Universities Branch Out 2 J5 , i i3 t(RE B
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i 9T rh g B -4 2R JF A J& CE () topic sentence( £ 4], BREHNMES X EM EHE BHXM.
BT LA S8 o R ) X R R R TR R OHTE R R N E B X E E R KRB —F k.

@ Rk bRd N R e LR R B H AR A R EXERAANKEREA A
i) RHASBE SN AEE.

T 47 @1 . Since the mid-1970s, the enrollment of overseas students has increased at an annual rate
of 3.9 percent.

3.9 percent B — M EH B HEEM E C B AN EERFERT.

C Bt . Over the past three decades the number of students leaving home each year to study abroad
has grown at an annual rate of 3.9 percent, from 800,000 in 1975 to 2.5 million in 2004.

. 4n 51 . The number of foreign students applying to U.S. universities decreased sharply after
September 11 due to changes in the visa process.

September 11 & — M EMMEH KE , HEEN 2 H BB & ML .

H B . Adjusted for inflation. public funding for international exchanges and foreign-language study
is well below the levels of 40 years ago. In the wake of September 11. ..
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But at the same time, the opening of national borders to the flow of goods, services, information

and especially people has made universities a powerful force for global integration, mutual understanding
and geopolitical stability.

MR8 A 8] J o AR 4 1K HE 6 o OC TR 0 2 A 45 M sRIB A5 W F U0 B PR E { & < has made
universities a powerful force, LA I, 7] 25 VO i ) 4 581 H B AT ,

RUEICES B 33

Present-day universities have become a powerful force for global integration.

) 2 A AR )

[ ¥, F BUE s A) & but

The link between university-based science and industrial application is often indirect but sometimes
highly visible.

BUPUEIRE 3

Around the world, governments encourage the model of linking university-based science and
industrial application.

| & R R

@ F [ S e il R 3o 132 G 0 e TR F) B v S REL H

o] SR R R BE KRR H AR MR 7 R, ERER IS EEL 20 FH S M E CREN A B
K. MG R E LR P8 8 s OB, Bilan E b, B b i link 42 B8 H Y linking .

LR A —E B H R B R A o R

mmMgHEE E B

Globalization is also reshaping the way research is done. One new trend involves sourcing portions
of a research program to another country. Yale professor and Howard Hughes Medical Institute
investigator Tian Xu directs a research center focused on the genetics of human disease at Shanghai’s
Fudan University, in collaboration with faculty colleagues from both schools. The Shanghai center has
95 employees and graduate students working in a 4,300-square-meter laboratory facility. Yale faculty,
postdoctors and graduate students visit regularly and attend videoconference seminars with scientists
from both campuses. The arrangement benefits both countries; Xu's Yale lab is more productive, thanks
to the lower costs of conducting research in China, and Chinese graduate students, postdoctors and
faculty get on-the-job training from a world-class scientist and his U.S. team.

A B0 LA E L W 6L B A - & A) 2 )5 4300 195 OFf 1 8 5% ) 5 Fudan University (4F @ 8l K5 &
A)%.

fra e e H , KB BA EMT 215 8 0T A7 IC .

H A 49 @ . The way research is carried out in universities has changed as a result of globalization.
£1 8 — globalization.

74053 b7, & BLX B W5 X R RO BE R E BB E . L [R) )8 4 % 1 € & 4 : Reshape—has changed;
research is done—research is carried out.
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Passage 1

Directions: In this section, you are going to read a passage with ten statements attached to it. Each

statement contains information given in one of the paragraphs. Identify the paragraph from which

the in formation is derived. You may choose a paragraph more than once. Each paragraph is marked

with a letter. Answer the questions by marking the corresponding letter on Answer Sheet 2.

A)

B)

©

A Brief History of Clock

Clocks

At best, historians know that 5,000 ~ 6,000 years ago, great civilizations in the Middle East and
North Africa started to examine forms of clock-making instead of working with only the monthly and
annual calendar. Little is known on exactly how these forms worked or indeed the actual
deconstruction of the time, but it has been suggested that the intention was to maximize time
available to achieve more as the size of the population grew. Perhaps such future periods of time
were intended to benefit the community by allotting specific lengths of time to tasks. Was this the
beginning of the working week?

Sun clocks (1)

With the disappearance of any ancient civilization. such as the Sumerian (A % A fJ) culture,
knowledge is also lost. Whilst ([a]Bf) we can only hypothesize ({f{1%) on the reasons of why the
equivalent to the modern wristwatch was never completed, we know that the ancient Egyptians were
next to layout a system of dividing the day into parts, similar to hours. “Obelisks” (tall four-sided
tapered (£ #)) monuments) were carefully constructed and even purposefully geographically
located around 3,500 BC. A shadow was east as the Sun moved across the sky by the obelisk. which
it appears was then marked out in sections,allowing people to clearly see the two halves of the day.
Some of the sections have also been found to indicate the year’s longest and shortest days. which it is
thought were developments added later to allow identification of other important time subdivisions.
Sun clocks (2)

Another ancient Egyptian “shadow clock” or “sundial” has been discovered to have been in use
around 1,500 BC, which allowed the measuring of the passage of “hours”. The sections were divided
into ten parts,with two “twilight hours” indicated,occurring in the morning and the evening. For it
to work successfully then at midday or noon, the device had to he turned 180 degrees to measure the

afternoon hours.

D) Water clocks

“Water clocks” were among the earliest time keeping devices that didn’t use the observation of the

celestial (K73 #)) bodies to calculate the passage of time. The ancient Greeks, it is believed, began

Bl CET4



F)

G)

H

~

using water clocks around 325 BC. Most of these clocks were used to determine the hours of the
night.but may have also been used during daylight. An inherent problem with the water clocks was
that they were not totally accurate,as the system of measurement was based on the flow of water
either into,or out of,a container which had marker8 around the sides. Another very similar form was
that of a bowl that sank during a period as it was filled of water from a regulated flow. It is known
that water clocks were common across the Middle East. and that these were still being used in North
Africa during the early part of the twentieth-century.

Mechanical clocks

In 1656, “Christian Huygens” (Dutch scientist), made the first “ Pendulum (% #2) clock”, with a
mechanism using a “natural” period of oscillation (g #§). “Galileo Galilei” is credited, in most
historical books. for inventing the pendulum as early as 1,582, but his design Was not built before his
death. Huygens' clock, when built, had an error of “less than only one minute a day”. This was a
massive leap in the development of maintaining accuracy,as this had previously never been achieved.
Later refinements to the pendulum clock reduced this margin of error to “less than 10 seconds a
day”. The mechanical clock continued to develop until they achieved an accuracy of “a hundredth-of-
a-second a day”, when the pendulum clock became the accepted standard in most astronomical
observatories.

Quartz clocks

The running of a “Quartz clock” is based on the piezoelectric property of the quartz crystal. When an
electric field is applied to a quartz crystal, it actually changes the shape of the crystal itself. If you
then squeeze it or bend it,an electric field is generated. When placed in an appropriate electronic
circuit, this interaction between the mechanical stress and the electrical field causes the crystal to
vibrate.generating a constant electric signal which can then be used for example on an electronic
clock display. The first wrist-watches that appeared in mass production used “LED”, “Light
Emitting Diode” displays. By the 1970’s these were to be replaced by a “LCD”, “Liquid Crystal
Display”. Quartz clocks continue to dominate the market because of the accuracy and reliability of the
performance.also being inexpensive to produce on mass scale. The time keeping performance of the
quartz clock has now been surpassed by the “Atomic clock”.

Atomic clocks (1)

Scientists discovered some time ago that atoms and molecules have “resonances” and that each
chemical element and compound absorbs and emits “electromagnetic radiation” within its own
characteristic “frequencies”. This we are told is highly accurate even over “Time and Space”. The
development of radar and the subsequent experimentation with high frequency radio communications
during the 1930s and 1940s created a vast amount of knowledge regarding “electromagnetic waves”,
also known as “microwaves”. which interact with the atoms. The development of atomic clocks
focused firstly on microwave resonances in the chemical Ammonia and its molecules. In 1957,
“NIST”,the “National Institute of Standards and Technology”, completed a series of tests using a
“Cesium Atomic Beam” device, followed by a second program of experiments by NIST in order to
have something for comparison when working at the atomic level. By 1960, as the outcome of the
programs, “Cesium Time Standards” were incorporated as the official time keeping system at NIST.
Atomic clocks (2)

The “Natural frequency” recognized currently is the measurement of time,used by all scientists,and
defines the period of “one second” as exactly “9,192,631,770 Oscillations” or “9, 192,631, 770
Cycles of the Cesium Atom’s Resonant Frequency”. From the “Macrocosm”. Or “Planetary
Alignment”, to the “Microcosm”,or “Atomic Frequency”,the cesium now maintains accuracy with a

degree of error to about “one-millionth of a second per year”. Much of modern life has come to

GEO
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depend on such precise measurements of time. The day is long past when we could get by with a
timepiece (Bf) accurate to the nearest quarter hour. Transportation, financial markets, communi-
cation, manufacturing,electric power and many other technologies have become dependent on super-
accurate clocks. Scientific research and the demands of modem technology continue to drive our
search for ever more accuracy. The next generation of Cesium Time Standards is presently under
development at NIST’s “Boulder Laboratory” and other laboratories around the world.

Something to remember

The only thing that should be remembered during all this technological development is that we should
never lose the ability to tell the time approximately by natural means and the powers of deduction
without requiring crutches (5 #{) to lean on. Our concept of TIME and using it together with
TECHNOLOGY still has room for radical reassessment in terms of man’s evolutionary thinking
regarding our view of the past, our onward journey into the future and our concept of time in

relationship to universe.

EE- SR EEREF 2 LES.

46.
47.

48.
49.
50.

51.
52.
53.

54.
55.

Of all the clocks introduced in the passage,the one with the most accuracy is the atomic clock.

No matter how advanced the technology of measuring time will be we should never losethe ability to
tell the time approximately by nature.

“Water clocks” didn’t work by observing the celestial bodies to calculate the passage of time.
Christian Huygens built the first “pendulum clock” as early as 1656.

It is suggested that 5,000~6,000 years ago people in the middle East and North Africa started to
allot specific lengths of time to tasks.

Ancient Egyptians around 1,500 BC used “Shadow clock” or “sundial” to measure passage of “hours”.
Water clocks were mostly used to determine the hours of the night.

Huygens mechanical clock has the error of “less than only one minute a day”,which was a massive
leap in the development of maintaining accuracy.

There are three resons why the Quartz clocks continue to dominate the market.

Scientific research and the demands of modern technology continue to drive our search for examining

time ever more accurately.
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46.

47.

48.

49.

H HEBFTEMBEAAN/NMEETF .45 4 From the “Macrocosm”, or “Planetary Alignment”, to
the “Microcosm”,or “Atomic Frequency”, the cesium now maintains accuracy with a degree of error
to about one millionth of a second per year., Al W HHE R LB, R T8 C 20 Lk B — 4
REKA—-BANZ . SETHAF, FHKE H,

D HEBTENMBP I B, +: The only thing that should be remembered during all this
technological development is that we should never lose the ability to tell the time approximately by
natural means and the powersof deduction without requiring crutches to lean on, J it it i} £ & an
A&, RANARE K 258 3 B R F BOk K & K8Eed ) @y A RE . S8 THAF, Hitik L

D) BEBTEMCEENAN /MR-, $5 . Water clocks were among the earliest time-keeping
devices that didn’t use the observation of the celestial bodies to calculate the passage of time, n]
7K 8P A 2 £ B WL B K {4 f ) &k o i) g S A PR R . ST AR, Rtk iE D,

E) B8 TEMBE LS /DnBF .45 H :In 1656, Christian Huygens (Dutch scientist) , made the

first “Pendulum clock”. .. “Galileo Galilei” is credited, in most historical books, for inventing the
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pendulum as early as 1582, but his design was not built before his death, MiX B a] IF H, KL ¥
Py 2R 45 A 000 A B 2 5 — {7 L E 1582 4F gt BB N, B B B4t 2= i th BE A HI4E 42
B - BB far 22 B 2E &K Christian Huygens §i/E ik #). S8 FMH%AF, Hikik E.

50. A) iy #FE {7 ¥ A B, 48 i : At best, historians know that 5, 000 ~ 6, 000 years ago, great

civilizations in the Middle East and North Africa started to examine forms of clock-making instead of

working with only the monthly and annual calendar. .. ,but it has been suggested that the intention
was to maximize time available to achieve more as the size of the population grew, % fildt3E @) —
MR AE N TAERTL IR IS 2 7. FEE A DMK, BREOBIH R T B K& i # A
B fa) . 5 8T AR, H It E A,

51. O @ FEMBNE = /MR8 F .35 1 : Another ancient Egyptian “shadow clock” or “sundial”
has been discovered to have been in use around 1,500 BC, which allowed the measuring of the
passage of “hours”. The sections were divided into ten parts, with two “twilight hours” indicated,
occurring in the morning and the evening. For it to work successfully then at midday or noon, the
device had to be turned 180 degrees to measure the afternoon hours, fFE¥%% — 15,5048 5K %
M A #9185 % F 4 shadow clock or sundial, §2 4085k H 8

52. D) 1 Water Clocks iX #4r % — n) Most of these clocks were used to determine the hours of the
night.but may have also been used during daylight 7] WL/K %t F & H F#% a6 58 T, B 1L
i D,

53. E) WME T ELENE LA /R F L $5 1 : Huygens clock, when built, had an error of less than only
one minute a day. This was a massive leap in the development of maintaining accuracy, as this had
previously never been achieved, X iR ZE B KAR —80. 58 THA, Hikik E,

54. F) @@ T L S/ R @ F L, 48 - Quartz clocks continue to dominate the market because
of the accuracy and reliability of the performance,also being inexpensive to produce on mass scale,
£ B Z BT DL — EAE T b o A R O Lk B e v BB WT $, OF B RS R BRE T R MR
7. SETMEM, Btk F.

55. H) @1 + & 8% /AN /Nbr 8 F, 4§ 4 : Transportation, financial markets, communication,
manufacturing, electric power and many other technologies have become dependent on super-
accurate clocks. Scientific research and the demands of modem technology continue to drive our
search for ever more accuracy. 1F 2 Bk 24 B 58 A BLAC B AR 9 2 5K 9K (i 3% 1] A W 48 - B 28 0 08 69 3
By, 58 TASE, Mk H.

Passage 2

Directions: In this section, you are going to read a passage with ten statements attached to it. Each
statement conlains information given in one of the paragraphs. Identify the paragraph from which
the information is derived. You may choose a paragraph more than once. Each paragraph is marked

with a letter. Answer the questions by marking the corresponding letter on Answer Sheet 2.

Modern Marriage in America

A) New marriage (1)
The wedding of the 20th century,in 1981, celebrated a marriage that turned out to be a huge bust. It
ended as badly as a relationship can: scandal,divorce and, ultimately,death and worldwide weeping.
So when the first-born son of that union, Britain’s Prince William,set in motion the wedding of this
century by getting engaged to Catherine Middleton, he did things a little differently. He picked
someone older than he is (by six months), who went to the same university he did and whom he’d

dated for a long time. Although she is not of royal blood. she stands to become the first English
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